
Telefax No.: 0091-832-2525573
E-mail:  warlu62@ncaor.gov.in

(PROCUREMENT SECTION)

Ref No:

M/s. Date:

Due Date:

Dear Sir,

We require the following items for XXXIII Indian Antarctic Expedition.  You
are requested to send your offer for the following items as per the terms and
conditions mentioned below.

SL.
NO.

DESCRIPTION

Mantis

QUANTITY

01 Spare parts for Mantis 10010Mx SN 100MX-134
(As per Annexure-I)

As per
Annexure-I

Your offer should contain the following information:

1. Please submit your quotation on FOB/CIF basis.
2. Delivery Period:
3. Validity of quotation:
4.  Quantity/Trade discounts, if any. :
5. Guarantee/Warranty of the product:
6.  Taxes applicable (VAT if any):
7.  Specify Brand/Make/Model of the item:
8.  Enclose brochure/leaflet – Specification:
9. Mode of payment acceptable to you: Our normal payment terms by sight draft

through our Bankers State Bank of India, Commercial Br., Vasco-Da-Gama, Goa-
403 802 India or Irrevocable Letter of Credit (L/C). If you insist payment by Letter
of Credit (L/C). Please provide detailed instructions.

Director, NCAOR reserves the right to reject any quotation received without assigning
any reasons.

Also confirm that the “the rates quoted by you are reasonable and lowest charged to any
of your customer”.

Yours faithfully,
Sd/-

Executive (Procurement)
For and on behalf of Director, NCAOR

LHE - 20120

03.10.2013

17.10.2013

Foreign Enquiry



Annexure-I
LHE-20120

Sr.
No.

Description Qty

Spare parts of Mantis 10010Mx SN 100MX-134
01. 10445 O-Ring 04 nos
02. 12184 O-Ring 04 nos
03. 119733 Coupling ¼" NPTF 08 nos
04. 119805 Belt, Seat 01 no.
05. 124234 Pressure switch 02 nos
06. 130583 Cabin Front Glass 01 no.
07 901310 Nut,10-24, GR8,ZP 08 nos
08 901310 Nut,10-24,HEX,GR8, ZP 08 nos
09 917642 Washer,5/16,flat ZP 04 nos
10 919311 Washer,5/16,lock,GR8,ZP 04 nos
11 919312 Washer,3/8,lock,ZP 08 nos
12 926149 HHCS,5/16-18x1.0,GR8,ZP 08 nos
13 3678925 Seal, O Ring 10 nos
14 3963983 Washer Sealing 10 nos

LHE-20115
15 NK All Hydraulic Hoses for 50 ton Mantis Crane 01 Set


